CHEMISTRY

BOOKS - MS CHOUHAN CHEMISTRY
(HINGLISH)

CARBOXYLIC ACIDS AND THEIR
DERIVATIVES

Solved Problem


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Which carboxylic acid would ou expect to be

stronger Aor B ?

CO,H O,H
. -
ON

2
A B

o View Text Solution

2. Suggest epxplanation for the following
The pK, for all of the dicarboxylic acids in

Table 17.2 is smaller tyhan the pK, for a


https://dl.doubtnut.com/l/_eA1OTST31XWf
https://dl.doubtnut.com/l/_Vht95PT5SmRQ

monocarboxylic acid with the same number of

carbon atoms.

o View Text Solution

3. Suggest epxplanation for the following
The difference between pK,; and pK, for
dicarboxylic acid of the type

HO,C(CH,),CO,H  decreases as n

increases.

o View Text Solution



https://dl.doubtnut.com/l/_Vht95PT5SmRQ
https://dl.doubtnut.com/l/_QhQv6HXG4YV5
https://dl.doubtnut.com/l/_Hmv71jWGKBew

4. N,N-Diethyl-3-methylbenzamide (also called
N,N-diethyl-m-toluamide. Or DEET) is used

many insect repellants. Write its structure.

° View Text Solution

5. Give stereochemical formulas for A-D. are

enantiomers of each of other.

HOY 'HL 0

(K }-2-Bulanol Ll A B C HS50,

t_liﬂ“i.lln.lt E H-U"HIIII D F|H1EU|

o View Text Solution



https://dl.doubtnut.com/l/_Hmv71jWGKBew
https://dl.doubtnut.com/l/_TOYhj6wyYErV

6. Provide the missing compound A-C, in the

following synthesis

H,Crd B
- '~-.,.f'ffH'EIH H:-ﬂ. A (CH,,04) _'a-"'i\a._.--"’

|c
A,

"

-

o View Text Solution

7. At first glance the conversion

of

bromobenzene to benzenitrile looks simple

just cary out a nucleophilic substitution using


https://dl.doubtnut.com/l/_aeHiFzprv0Bo
https://dl.doubtnut.com/l/_RnfUElEjB7YS

cyanide ion as the nucleophile. Then we
remember that bromobenzene does not
undergo either an Sy1 or an Sy2 reaction
(Section 6.14A). The conversion can be
accomplishes. however. thogh it involves

severals steps. Outline possible steps.

° View Text Solution

8. Provide structures for A and B.

y 11.4°ld
Ao L om e A(CH,O)
0} bl

B(C,H,0) + CO,


https://dl.doubtnut.com/l/_RnfUElEjB7YS
https://dl.doubtnut.com/l/_ETxhYBN1DLXZ

° View Text Solution

9. Identify the product obtained when

following acids, undergo prolonged heating,

)
O.H

o View Text Solution



https://dl.doubtnut.com/l/_ETxhYBN1DLXZ
https://dl.doubtnut.com/l/_m7w1NnVUAZbH
https://dl.doubtnut.com/l/_3chpRu4nszAA

10. Identify the product obtained when

following acids, undergo prolonged heating,

-COLH
COH

o View Text Solution

11. Identify the product obtained when

following acids, undergo prolonged heating,


https://dl.doubtnut.com/l/_3chpRu4nszAA
https://dl.doubtnut.com/l/_TgvM3yg7Davz

HO,C COH

o View Text Solution

12. Identify the product obtained when

following acids, undergo prolonged heating,

HO,C CO.H
CO.H



https://dl.doubtnut.com/l/_TgvM3yg7Davz
https://dl.doubtnut.com/l/_cucKaqY4IaX2

\ o View Text Solution

13. Identify the product obtained when

following acids, undergo prolonged heating,

O 0

] |
PH—-C - CH, - C — OH

o View Text Solution

14. Identify the product obtained when

following acids, undergo prolonged heating,


https://dl.doubtnut.com/l/_cucKaqY4IaX2
https://dl.doubtnut.com/l/_urp4fVZSWYzH
https://dl.doubtnut.com/l/_pbJttPC0rCM6

Ph
HO,C - CO.H
CH,

o View Text Solution

15. Identify the product obtained when

following acids, undergo prolonged heating,


https://dl.doubtnut.com/l/_pbJttPC0rCM6
https://dl.doubtnut.com/l/_liq22sQFzmHn

Fh

HO,C |} CO.H
Ph

° View Text Solution

16. Identify the product obtained when

following acids, undergo prolonged heating,


https://dl.doubtnut.com/l/_liq22sQFzmHn
https://dl.doubtnut.com/l/_xNtVuLxjTm3n

CH,

o View Text Solution

17. Following [ ketoacid will not undergo

decarboxylation on heating Give reasons.


https://dl.doubtnut.com/l/_xNtVuLxjTm3n
https://dl.doubtnut.com/l/_QqpIrTVtmSKv

o View Text Solution

18. Provided detailed curved arrow

mechanisms for the following reactions:

0 O

Ay == . A

'.I:.H f_'H,DH I:HTH'-.

.y o l


https://dl.doubtnut.com/l/_QqpIrTVtmSKv
https://dl.doubtnut.com/l/_XO8Skg1oZXZx

L % View Text Solution J

19. Provided detailed curved arrow

mechanisms for the following reactions:

PRCO,CH, ** " pco i+ CHLOH

o View Text Solution

20. Provided detailed curved arrow

mechanisms for the following reactions:


https://dl.doubtnut.com/l/_XO8Skg1oZXZx
https://dl.doubtnut.com/l/_NwsPhV8zLqzn
https://dl.doubtnut.com/l/_fsyaZo7iZtOG

o View Text Solution

21. Provided detailed curved arrow

mechanisms for the following reactions:

0
A e oo
:‘h’,‘t:.f'll.[ll Ph

O View Text Solution



https://dl.doubtnut.com/l/_fsyaZo7iZtOG
https://dl.doubtnut.com/l/_Jmay2wNNQguc
https://dl.doubtnut.com/l/_ElsOvWhbQ8Oz

22. Provided detailed curved arrow

mechanisms for the following reactions:

.--"‘-uTro H'.H.'U“ ﬁmr.
g e O

o View Text Solution

23. Provided detailed curved arrow

mechanisms for the following reactions:

i A H b .
OCH, . e € , = HOWCH,
H-‘""NT ¥ HMNH, + H I
0

o View Text Solution



https://dl.doubtnut.com/l/_ElsOvWhbQ8Oz
https://dl.doubtnut.com/l/_DeFmcVDBKwqG

Additional Objective Questions Single Correct

Choice Type

1. Choose the structure that is an intermediate
in the base catalyzed hydrolysis of acetonitrile

into acetamide.

-

*CH,” NH,

CH,—C=N

X,

CH; “NH


https://dl.doubtnut.com/l/_DeFmcVDBKwqG
https://dl.doubtnut.com/l/_Qi8C2pbDKmJX

Answer: D

o View Text Solution

2. What is the major product of the following

reaction?


https://dl.doubtnut.com/l/_Qi8C2pbDKmJX
https://dl.doubtnut.com/l/_v8XmAZEpe9k2

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_v8XmAZEpe9k2

3. Which of the following are most reactive

compounds for nucleophilic acyl substitution?

H,C Cl
A.
H,C Pl\TH

B CH,

H_‘C)\NH
C.

H_,CiNH NO,
D.

Answer: D



https://dl.doubtnut.com/l/_v8XmAZEpe9k2
https://dl.doubtnut.com/l/_QMtSniIWxWQ4

View Text Solution

4. Which of the following reaction do not yield

cyclohexanone as major product?

(o]
HOOC, 'OOH A
HOOC COOH
} \.

Fit .
P
B .
o]
H, (i) NaOI
(i) H*

C (i) A
.

(o]
HOOC COOH
e
D. HOOC COOH

Answer: D

| oo |


https://dl.doubtnut.com/l/_QMtSniIWxWQ4
https://dl.doubtnut.com/l/_6lp83zr2iEKs

| & View Text Solution

5. Which of the following carboxylic acids

undergo decar boxylation easily?

A.C¢H;CO — CH,COOH

B.C¢ H;CO — COCOOH

C.C4H; — CH, — COOH

|
OH

D.CyH;CH, — COOH

|
NH,

Answer: A



https://dl.doubtnut.com/l/_6lp83zr2iEKs
https://dl.doubtnut.com/l/_Na7467VFFaxG

W View Text Solution

H.l
?:: (A) Sm"HCl= (B) i:{ND.‘. + HCI (©)
H,PO, nO,
» (D) 5 »(E)
60 NO]
CO,H
A NO,
CO,H

Br


https://dl.doubtnut.com/l/_Na7467VFFaxG
https://dl.doubtnut.com/l/_bYMrgBVyWsz1

CO.H

Br
C.
"O.H
D. CO.H
Answer: C

° View Text Solution

7. Choose the order that has the following

benzoyl compounds correctly arranged with


https://dl.doubtnut.com/l/_bYMrgBVyWsz1
https://dl.doubtnut.com/l/_yLCbxTUvPa3A

respect to increasing reactivity.
O O
TN
@)\J{ ) (_)//\\_. O)ko -

A (i) < (i1) < (i3)
B. (4) < (i4i) < (44)
C. (i7) < (i) < (341)

D. (2) < (%) < (7)

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_yLCbxTUvPa3A
https://dl.doubtnut.com/l/_6OpssfBlFNmJ

8. When propionic acid is treated with
aqueous NaHCOs3, CO: is liberated. The .C.

of CO2 comes from

A. methyl group

B. carboxylic acid group

C. methylene group

D. bicarbonate.

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_6OpssfBlFNmJ
https://dl.doubtnut.com/l/_WrWwocjoIQ6W

9. Which of the following carboxylic acids will

have the largest K, value ?

A.CH3COsH

B.CICH,COoH

C.CeHsCOsH

D.CF3CO.H

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_WrWwocjoIQ6W

10. The reactivity of carboxylic acid derivatives

from highest reactivity to lowest reactivity is

A.acid anhydride > acid chloride >

ester > amide

B.acid chloride > acid anhydride >

ester > amide

C.acid anhydride > ester > amide >

acid chloride


https://dl.doubtnut.com/l/_nxWulP0gApX4

D.amide > ester > acid anhydride >

acid chloride

Answer: B

° View Text Solution

11. What starting material is required for the

following reaction?

O

? /U\
" Heat + CO,


https://dl.doubtnut.com/l/_nxWulP0gApX4
https://dl.doubtnut.com/l/_ro2awcoQAvIm

A.
0 ©

P TN
OH 0O

C. OH

D. MOH

Answer: D

o View Text Solution

12. In which of the reaction C'O> gas will

evolve?


https://dl.doubtnut.com/l/_ro2awcoQAvIm
https://dl.doubtnut.com/l/_eT7mCenM8Uv2

0 O

[ |
A.Ph—C—C’Hz—C’—OH?

CO.H

Ph_-CH\/\('()-H T
NaHCO
C.Ph — CO,H - 2%
A
D. All
Answer: D

o View Text Solution

)

|| NaHCO;/ A
13.Ph — C — OH > (A)
14



https://dl.doubtnut.com/l/_eT7mCenM8Uv2
https://dl.doubtnut.com/l/_Zg8TNTdYE1JF

A.CO,

14
B. COs

D. NH,

Answer: A

° View Text Solution

14. In the following reaction sequence, the

correct structures of E, F and G are


https://dl.doubtnut.com/l/_Zg8TNTdYE1JF
https://dl.doubtnut.com/l/_0nPTpgZQirHe

PPN
Heal I,
P . OH (Bl —Gon ~ [F1+1Gl

9
A E- JU F- M c-om,
3 P O Na
. ,
X !
B. =« A G-CH,
.

o CH, FTe o

C . .
. E:ph)l\(‘}[) FzPh—@—O Ni  G=CHI,

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_0nPTpgZQirHe

15. The product of mixing an acyl halide and an

acid is

A. an acid

B. an amide

C.anhydride

D. an aldehyde

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_TW9kuo74DOjO
https://dl.doubtnut.com/l/_v6cnsizhhXgs

O
R_< + Nu —— R~6+Z'

Z Nu
16.

A.Cl
B.OCOCHj
C. OCy,Hj

D. NH,

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_v6cnsizhhXgs
https://dl.doubtnut.com/l/_uOalgv0nfQsh

17. Which of the following lossses chirality

when heated ?

9]
CH,
COOH
A.
H
LC‘OOH
B.
COOH
COOH
C /j\/
. CO,H
LH-‘“;C CH
D H ét CO,H
Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_uOalgv0nfQsh
https://dl.doubtnut.com/l/_27TjXS8Oi2P0

18. What is the productof the following

reaction ?
O O
)V\)\ Heal
R
HOG OH

A. OH
O O
B.

Answer: D



https://dl.doubtnut.com/l/_27TjXS8Oi2P0

\ o View Text Solution

Additional = Objective = Questions  Linked

Comprehension Type Paragraph For Questions

1. 4 A neutral, resolvable organic compound A
has molecular formula (CsHi602). A on
treatment with LiAlH, gives isomeric B and
C(C41H100) of which only B is optically active.
B on treatment with acidified dichromate
solution gives D(C4HgO), which on refluxing

with dilute NaOH followed by acidification of


https://dl.doubtnut.com/l/_27TjXS8Oi2P0
https://dl.doubtnut.com/l/_lSZvNP4e03R6

product gave E(CgH40). E on heating with
NyH, in alkaline medium affords F(CgHig)
which on treatment with B.H/H,0,/HO
produced a resolvable G (C3gH30). G on
treatment with acidified dichromate solution
produced H(CgH;40), which on treatment
with MCPBA produces A.

Compound (A) is

A. P VN


https://dl.doubtnut.com/l/_lSZvNP4e03R6

N

Answer: B

o View Text Solution

2. 4 A neutral, resolvable organic compound A
has molecular formula (CgH1405). A on
treatment with LiAlH, gives isomeric B and
C(C4H1(0) of which only B is optically active.
B on treatment with acidified dichromate

solution gives D(C,HgO), which on refluxing


https://dl.doubtnut.com/l/_lSZvNP4e03R6
https://dl.doubtnut.com/l/_C3qZzzLGQVxz

with dilute NaOH followed by acidification of
product gave E(CgH40). E on heating with
NyH, in alkaline medium affords F(CgHig)
which on treatment with B.H/H,0,/HO
produced a resolvable G (CgHi30). G on
treatment with acidified dichromate solution
produced H(C3H;40), which on treatment
with MCPBA produces A.

Compound (B) is

A N0

YH


https://dl.doubtnut.com/l/_C3qZzzLGQVxz

C.
D GH
Answer: B

o View Text Solution

3. 4 A neutral, resolvable organic compound A
has molecular formula (CgsHi605). A on
treatment with LiAlH, gives isomeric B and

C(CyH190) of which only B is optically active.


https://dl.doubtnut.com/l/_C3qZzzLGQVxz
https://dl.doubtnut.com/l/_YXgaSeI2wUlk

B on treatment with acidified dichromate
solution gives D(C,HgO), which on refluxing
with dilute NaOH followed by acidification of
product gave E(CgH40). E on heating with
NyH, in alkaline medium affords F(CgHig)
which on treatment with B.H/H,0,/HO
produced a resolvable G (CgHi30). G on
treatment with acidified dichromate solution
produced H(C3H;40), which on treatment
with MCPBA produces A.

Compound (E)

OH


https://dl.doubtnut.com/l/_YXgaSeI2wUlk

Y

D. None of these

Answer: B

° View Text Solution

4.4 A neutral, resolvable organic compound A
has molecular formula (CsHi602). A on
treatment with LiAlH, gives isomeric B and

C(C4H100) of which only B is optically active.


https://dl.doubtnut.com/l/_YXgaSeI2wUlk
https://dl.doubtnut.com/l/_9rvsK4nulFwx

B on treatment with acidified dichromate
solution gives D(C,HgO), which on refluxing
with dilute NaOH followed by acidification of
product gave E(CgH40). E on heating with
NyH, in alkaline medium affords F(CgHig)
which on treatment with B.H/H,0,/HO
produced a resolvable G (CgHi30). G on
treatment with acidified dichromate solution
produced H(C3H;40), which on treatment
with MCPBA produces A.

Compound (H) is

O


https://dl.doubtnut.com/l/_9rvsK4nulFwx

B.

C.

~ Ao
/\/"’\(
p.. ¥ T

Answer: B

o View Text Solution

5. A neutral organic compound A(C5HsO32)
does not decolorize Bayer.s reagent and on

hydrolysis with dilute H2S04 produces


https://dl.doubtnut.com/l/_9rvsK4nulFwx
https://dl.doubtnut.com/l/_2Djoz9iO5rGu

B(CyH903), which is diastereomeric. B on
heating with concentrated H5S0O, undergoes
dehydration producing C(C5HgO5), which
shows geometrical isomerism. Also B on
treatment with acidic dichromate solution
produced D(C5HgO,), which is enantiomeric
and gives a yellow precipitate with NaOl. D on
gentle heating produces E (CyHgO),which is
non-resolvable.

Compound (A) is


https://dl.doubtnut.com/l/_2Djoz9iO5rGu

G
k=t

e

— 0

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_2Djoz9iO5rGu

6. A neutral organic compound A(C5HsO>)
does not decolorize Bayer.s reagent and on
hydrolysis with dilute H2S04 produces
B(C3H190s3), which is diastereomeric. B on
heating with concentrated H2504 undergoes
dehydration producing C(CsHgO32), which
shows geometrical isomerism. Also B on
treatment with acidic dichromate solution
produced D(CsHgO32), which is enantiomeric
and gives a yellow precipitate with NaOl. D on

gentle heating produces E (C4HgO),which is


https://dl.doubtnut.com/l/_2Djoz9iO5rGu
https://dl.doubtnut.com/l/_QR0FYlqMfggZ

non-resolvable.

Compound (B) is
A. HhOH
B. HUJ’Og)
OH
C. OH
HM

D.

X

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_QR0FYlqMfggZ

7. A neutral organic compound A(C5HsO?)
does not decolorize Bayer.s reagent and on
hydrolysis with dilute H2504 produces
B(C2H1003), which is diastereomeric. B on
heating with concentrated H2S0O4 undergoes
dehydration producing C(C5HgO32), which
shows geometrical isomerism. Also B on
treatment with acidic dichromate solution
produced D(CsHgO32), which is enantiomeric
and gives a yellow precipitate with NaOl. D on

gentle heating produces E (C4HgO),which is


https://dl.doubtnut.com/l/_QR0FYlqMfggZ
https://dl.doubtnut.com/l/_Hzxnmsp1iUb0

non-resolvable.

Compound (C) is



https://dl.doubtnut.com/l/_Hzxnmsp1iUb0

L ' View Text Solution J

8. A neutral organic compound A(C5HgO,)
does not decolorize Bayer.s reagent and on
hydrolysis with dilute H;50, produces
B(C3H1y03), which is diastereomeric. B on
heating with concentrated H,50, undergoes
dehydration producing C(C5HgO5), which
shows geometrical isomerism. Also B on
treatment with acidic dichromate solution
produced D(CsHgO5), which is enantiomeric

and gives a yellow precipitate with NaOl. D on


https://dl.doubtnut.com/l/_Hzxnmsp1iUb0
https://dl.doubtnut.com/l/_3wAK3c1EOPhq

gentle heating produces E (CyHgO),which is
non-resolvable.

Compound (E)is

OH

Answer: B



https://dl.doubtnut.com/l/_3wAK3c1EOPhq

L ¥ View Text Solution J

Additional Objective Questions Matrix

Type

Column-1 Codumn-11
CH,

= IKI":‘.i(':"H A () Drasterevmens
h
CH,

b m:_.c'+(‘n.n A 1) Racumuc muxture
[

COH LOH

-
te) . )“L' ) Meso compound
I
(C1] i coH e 50 £, gas will evolve
L A==COH

o View Text Solution



https://dl.doubtnut.com/l/_3wAK3c1EOPhq
https://dl.doubtnut.com/l/_oPFi6dZ9ZguK

